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-lE M = 930% * 4,814m 33 13,432
-2=28F 1,950 = 3,606m * 23| 14,064
SR 1,500& * 50, 159m 75,239
O0elolse &AM (EL2) 97,361
=J1AH = 320& * 16,834m 33| 16,161
- M = 930& * 4,209m" = 33| 11,744
-2=2EFE 1,950& = 2,703m * 23| 10,542
- FA &2 1,500& = 39,276m 58,914
OUEOIZd A2 RANE>
1,000,000& * 60K £ 60,000
O0Eolsd 2e3eld
4,000 = 5,623m = 43| 89,968
OAICNE0SH AIdS &Xl
20,000,000& = 14 20,000
OSO0HHIRIHEOIZS& AIE=2 &X
20,000,000& = 14 20,000
OHA0E0SE ANE=s &
3,000,000& = 14 3,000
ONB3ONE OIS ZHIAY
30,000,000& * 14 30,000
OZolHE o3& EF2E HEAY
15,000,000& * 14 15,000
OF8OUE0IZ& Y HHAY
60,000,000& = 14! 60,000
OFSO0El0I3& B FHHIALYE A AIE A HI
60,000,000& * 6.07% 3,642
03 Al =20 HI 3,255 2,162 1,093
O0E ol Zel A2l
516,550,000& * 0.63% 3,255
A3 el 29,303 4,270 25,033




MBS SEMFHD
Bu: =X 2L
He TASE & =XAE 22 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
401 Al HI 2L 2 0HHI 29,303 4,270 25,033
01 A& HI 28,989 4,270 24,719
OA23& Z2ALY 28,989
OJIAH M = 320 * 5,564m * 33| 5,342
Ol = 930& * 1,236M * 33| 3,449
Oa=d3 1,950& * 40m * 23| 156
O3& S22l 1,500& = 13,361m 20,042
03 AlE 201 Y] 314 0 314
OAaZ2d 22 A&E=20|
28,989,000& * 1.08% 314
=XIAlE 22| 649,594 399,407 250,187
101 @124l 51,349 47,850 3,499
04 JI2ZtH 22 XNHEE =+ 51,349 47,850 3,499
oZRATRY oIS
57,9903 * 48 x 200 46,392
o4 = 4,957
O=30AHLEREE = 46,392,000& * 3.06% 1,420
OIYEE2EL=2
1,420,000& * 6.55% 94
O=30d=28g=2 46,392,000& * 4.5% 2,088
ONEsEEs!fE2 46,392,000& * 1.5% 696
Ol THHESE 2 46,392,000& * 1.42% 659
201 et A | 1,014 1,014 0
01 AFR2t2l bl 600 1,014 N414
O=XA&EH SN &9 M
10,000& * 60H 600
02 =294l 414 0 414
OZIA M2 Il D] S22l
34,500 ~ 104 » 12& 414
206 M= Hl 12,423 3,400 9,023
01 X2 bl 12,423 3,400 9,023
O=sXAE 22ES 2 12,423
Oll=sXAIHIS HZE 10,0008 * 700% 7,000
O=sgtl & 20,000& * 100X 2,000
SIIEH & 15,000& * 100% 1,500
oMYl E(50L)
890& * 30JH * 6 = 12& 1,923
305 & 2 S 2,000 0 2,000
01 HiMd=2S 2,000 0 2,000
O=X W T4 1,000,000& = 2A 2,000
307 QI2t0| ™ 24,224 17,410 6,814




2N EE SEMFHD
Bu: =X 2L
SR SABE L SXAE B CERED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
05 QIZtR E 2 24,224 17,410 6,814
Oot=UEs 2 5 HARE
6,470 * 2A12F x 6YH * 262 * 12& 24,224
401 Al B 2 0HHI 558,584 329,733 228,851
01 Al&H| 555,086 327,882 227,204
OANESI 2eAE(EET) 75,794
OJI A M = 320 * 72,5901m x23| 46,459
Ool&EH = 930% * 7,699m x 23| 14,321
Oa=xd3 1,950& = 7,699m x 13| 15,014
OANESX Z2AE(EE2) 72,073
OJIAH M = 320 * 69,989m x 23] 44,793
(@)= =S 930% * 7,160m % 23| 13,318
(@R R=PSPS 1,950 = 7,160m * 13 13,962
o3& =X &L S| ALY 21,615
OJIAHH = 320€ * 9,649m x 23| 6,176
O H A 500 * 9,649m % 23| 9,649
O &L Al ] 300& * 9,649m x 23| 5,790
Oll=X 22 At 66,795
OJI A M = 320 * 17,910m = 23] 11,463
Ool=EH = 930& * 18,055m x 23] 33,583
Oa=xH 1,950& % 11,153m" % 13| 21,749
=9 22| A Y 26,034
O1.0m Ol LH 1,950& = 7,415m x 13| 14,460
O2.0m Ol LK 9,000& * 1,286m x 13| 11,574
oz & ZelAd 136,239
OJIAHH = 320& * 47,670m x 23] 30,509
(@)= =S 930& * 45,320m° x 23] 84,296
O H AT 500& * 23,523m" x 13| 11,762
Oa=x3H 1,950& = 4,960m x 13| 9,672
OnNssd, L2l 22l A 56,536
OJlAH M = 320 * 11,025m x 23] 7,056
ool = 930& * 26,602m x 23] 49,480
Oll=X BAAY 50,000
O&AXUZ2A 3M al 5,000& * 10,000m 50,000
O=X W AIE2 X2
10,000,000 * 50 2 50,000
03 A& 2 0HY| 3,498 1,851 1,647
O=X A 22l AE20]
555,086,000 * 0.63% 3,498
HHSAALH(ELE R st ) 141,591 130,686 10,905
ol 2 A | 93,696 83,229 10,467
jelals] 93,696 83,229 10,467




=47 SENAN
HegAH(SLT SEASND)
=2

=

i
2m

101 @121l 93,696 83,229 10,467
03 RIHA2ZR2 4 93,696 83,229 10,467
oz U =X 22 93,696
o= (0t2) 50,400
-5 24,720,008 * 1% 24,720
1358 25,680,0008 * 1% 25,680
Ok X 2 bl 175,00020 * 29 + 128 4,200
ozl 150,0008 * 28 + 122 3,600
Onsyl 150,0008 * 2% * 128 3,600
OYEEIH|
50,400,0008 / 128 * 65% * 23l 5,460
OSL0Z 600,000% * 2% 1,200
O+g 25,056
-2249(1158) 103,0002 * 128 1,236
-2549(1358) 107,000 * 122 1,284
=4y 1,680
TEYY 40,0008 * 28 * 128 960
=T 20,0008 * 3% * 122 720
~eimaRAY 71,0008 « 2Y + 128 4,104
e
137,009 * 2 « 42 « 128 13,152
RS 90,0008 * 2% * 202 3,600
O =] 180
-mois 90,0008 * 2% 180
2 bl 47,895 47,457 438
=3y 47,895 47,457 438
201 2Lur2 HH| 22,495 22,537 ~42
01 At 22l bl 19,076 19,076 0
oJlEZH (2 2) 9,576,0002 9,576
OYL+HS =AY 9,500,0002 9,500
02 232l 3,419 3,461 ~42
OSEMAMYLRET 2B 3,019
SR I 2708 * 2505 + 128 810
SESEX-I-E 1,9308 * 705 * 128 1,622
SEBIIES- 1,6308 * 0 * 122 587
oF+IISNBL U LE DS
10,0002 * 43| 400
202 01t 20,520 20,520 0
01 2Lhol8l 20,520 20,520 0
O = 20,520,000 20,520
203 Y2 =T 4,200 4,200 0
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N = 0l & At & Ml A

A EHT MR
M XA 2el
Pl Zatgh XAl 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
S5 N 563,690 543,027 20,663
XAl 2tel 494,366 475,103 19,263
st NEA 21 303,881 270,199 33,682
LA 20 2 58 303,881 270,199 33,682
201 L2l 302,365 268,683 33,682
01 At 22l 82,715 77,639 5,076
OXNgAHEREU B2 =& 49,013
O&JII&E DXNM M &L & 25,265
-S=0iEH DAM HE U &
72,6003 » 184t Xt 1,307
-XASIA DM HME L =
72,6003 * 1104t Xt 7,986
-HebAl DA HE & 29
72,6003 * 1304t Xt 9,438
-F=8A DXA HE R EH
72,6003 * 904t Xt 6,534
O=A&231XAM 72,6003 = 32&t At 2,324
ONSXM ¢ DN HE L =
72,6003 » 324Xt 2,324
Oxtgz IXAM 72,6003 * 60&F At 4,356
OAM2 =2 XA 72,6003 * 364Xt 2,614
Oet & 7,000
-XNEAES et 100& = 30,0004 3,000
s (dXMaD, 30 ) U
100& = 40,0004 4,000
OESE MH 100& = 35,3000H 3,530
OtHssE M= 200& = 8,0000H 1,600
OXNTNEL 2= 22F 7Y 10,115
O=AEX 21,0003 = 115&t Xt 2,415
O&H 220,000& = 3504 7,700
OXZN 2 17,987
OXNYAN &8 2I&3 M
2303 * 4Z = 6,0000H 5,520
OHJIZXN LA gRAUZ2
100& = 20,000H 2,000
O8 =9 M= 70,000& * 93] * 114 6,930
O 2tE H & 33,000& = 93| * 1104 3,267
Ol HM & 30,000& = 93| * 1A 270
ONEZEHI ABF 5,600
O&H 500,000& * 8K 4,000
O=H 800,000& = 204 1,600
02 =224l 219,650 191,044 28,606
ORERIB(HI, =AY, AHUHESS) 217,970




SN B HRD
PSR N =1 R el
ool MEE UM 2 bol & R)
SA BB (SH) - NRAY - B ﬁlgﬁ HRE2
Ogst 2702 = 600,000= 162,000
OS2Il 1,930 * 29,000= 55,970
OHA™AMNRPEH KU 1,680
O& K= A 939,450& * 2[H = 8% 151
OREZES8 DI 16,870,000 * 8% 1,350
OZAM MIED| 768,000& = 1CH = 8% 62
O&ZDI 1,459,000 = 1CH ~ 8% 117
202 o4 | 1,516 1,516 0]
01 2L HI 1,516 1,516 0
OXNYHNAELL ARSZ 4]
75,800& x 5 x 22 x 23] 1,516
SSH0 HYEH A= 190,485 204,904 N 14,419
KA HYH xAF 190,485 204,904 N 14,419
201 gBt2Ay| 140,453 153,457 A 13,004
01 AP 2t 2| H| 45,878 45,927 AN 49
OXEAM M= =8 37,846
OHMY DKM & oHHE HE & =4
72,600 * 1924 X} 13,940
OS= NN ME o 5
72,600 = 754X+ 5,445
olsz(dss M) oty
72,600 = 544X 3,921
ORSH ZHHE +42
600,000& = 7021 * 25% 10,500
OgE=EE =42 17024 = 128 = 1,000& 2,040
OBBWY L WA HMEHE £48
50024 * 23 = 2,000 2,000
ONMgH E8d£)|2t 28 2,392
O £8t 70,000 * 23] = 110 1,540
o2k 33,000 * 23] * 12004 792
Ol g &2+a 30,000 * 23] = 10024 60
OMLH4 RN £ADE 7Y 5,640
TglH EYH 220,000 = 18JH 3,960
O=2A2 X 21,000& = 804t X+ 1,680
02 =224 | 94 575 107,530 N 12,955
02222 ¥ HMA 94,575
oYt 2703 = 278,000= 75,060
OS2Il 1,930 = 7,500= 14,475
Og9x=s AIEE AME22
45,0009 ~ 204 ~ 12& 1,080
Oso IXAAY KA 24|
330,000 ~ 12€ 3,960
202 04| 3,032 3,032 0




= - — SHE|
CHE - EI(BA) - NRAY - BYS e Hl D= 2t
01 = LH 4 bl 3,032 3,032 0
(©OF=ipr(R=1 04 bl 75,800 * 4% x 10 3,032
303 Z& 3 47,000 47,000 0
01 L4323 47,000 47,000 0
O&+=x 4 47,000
020144 82 408,000,000 * 5/100 20,400
020154 382,000,000 = 3/100 11,460
O20164 1,514,000,000& * 1/100 15,140
HHE2LAZH(EL2AMR) 69,324 67,924 1,400
4l 69,324 67,924 1,400
=3l 69,324 67,924 1,400
201 £B-2dH| 28,444 27,844 600
01 At 22/l 28,444 27,844 600
OJlegesdasZ 13,000, 000& 13,000
OJIEZ Ul (S&dl) 13,104,000& 13,104
O3 & Fl 1,140
O stz WA 60,000& * 4& 23] 480
oglaolg X & #¢
11,0008 * 5& = 12& 660
OoIAA D] & 50,0003 » 20H » 128 1,200
202 Oddl 35,880 35,880 0
01 = LHA YI 25,680 25,680 0
OJIEZ 25,680,000& 25,680
02 N 10,200 10,200 0
ONEAN=8+ &0
170,000& » 5% « 12& 10,200
203 YR =2l 4,200 4,200 0
04 2A22d &l 4,200 4,200 0
©J| & (302!0l35t) 350,000& = 12& 4,200
405 XHoHF S HI 800 0 800
01 AL =2 S H S| 800 0 800
Ouel & 800,000& * 1& 800




N = 0l & At & Ml A

SN EET SAAMD
M. 9t RS OIS0 TAIEE =4
el BMEE MEBHY Z4 (el @2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
SU SHFAMW 5,521,508 4,206,615 1,314,893
1 RS OlS0E TAIEE &4 1,256,040 839, 111 416,929
&5t MEtstd X4 1,158,254 738,093 420,161
MNEesE =8 2t 4,170 13,770 A 9,600
201 et A | 3,570 3,570 0
01 AFR2t2l Yl 3,570 3,570 0
oXNANEEE S22 100& * 10,0000H 1,000
onNgss =8 8§ 200& = 10,0000H 2,000
OMEEE =T 2UI|AI LIS 570
ogsts 100,000& * 3Y 300
Oo=282= 90,000& = 3Y 270
202 04| 600 1,200 A 600
01 2LH0HI 600 1,200 A 600
OHEZS, HAXX 28 =&E0HH|
30,000& * 198 * 20 600
MY D REHED & 64,486 65,236 A T750
201 LEt29Y| 24,246 20,596 3,650
01 AFR2t2l Yl 12,990 14,140 A 1,150
OSYEIYXN 2= 6,850
OSHIEMYDIHERE EES
100& * 30,0000H 3,000
OMYIIEHEIZF DI (EXH)
35,000& + 11iS S * 104 3,850
OZTHEEE MAEH ZElH EY
220,000& * 504 1,100
O=HEIISXNE o 70,000& * 1090 & 700
OSYHEIFUX Salste &AX 4,340
osg= 150,000& = 200 = 10902 3,000
oa&e 7,000& * 290 * 1004 & 140
oBRrs 30,000& * 290 * 2% % 100H & 1,200
02 3524t 11,256 6,456 4,800
ocEg2 SUHE MEE
70,000& = 104 ~ 128 840
OZ2YEI ZAl CCTV 89 KAl
5,000,000& * 12CH = 8% 4,800
OZAIZtNI2H 3l AlE2
36,000& * 1334 x 12& 5,616
202 (4] 2,200 1,600 600
01 2LHHI 2,200 1,600 600
oMY Il EEED FHUEX FH
20,000& + 29 = 55 2,200
301 dEtEAZ 1,440 1,440 0




SN BHT SN
MM U WRE OIEUS TAIEHE T4
ool WS MEHY T4 CER-ED
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
11 JIEtE A= 1,440 1,440 0
OZAIDIHCIE X HIIR=2 UAEANZ(AEH)
10,000 = 1204 ~ 12€ 1,440
402 QI2H X201 M 21,600 21,600 0
03 QI 2HCH &4 AF S HI 21,600 21,600 0
OZAI2tHI2H Ol &EX /A2
450,000€ = 1200 * 43| 21,600
405 XHo&HF S HI 15,000 20,000 A5,000
01 AL 2 ZF S| 15,000 20,000 A5,000
OE2YED ZA3MH(ADIE BDE) ¢
3,000,000& = 504 15,000
g &4 & MY D =& 2t 1,074,383 623,427 450,956
101 e1214| 144,121 0 144,121
04 JI12ZtHIZ22NEES 144,121 0 144,121
OEF e AFDAl XL 144 121
oorgel 74,680 * 6Y * 26 « 118 128,151
OAE B82 8g2 15,970
-nEggedz 128,150,880 * 1.5% 1,923
-MHEEREEZ2 128,150,880 * 3.2% 4,101
-200A32L43 128,150,880 * 4.5% 5,767
-AUAEEREEZ2 128,150,880& * 3.06% 3,922
Al ey¥Edga 3,921,416 * 6.55% 257
201 gEt2Hy| 424 907 393,677 31,230
01 AP 22| d| 23,895 18,535 5,360
OMYIIE=HAHE AEIA 100& = 5,0000H 500
OHABEAL XX 540
OXg s 4,000 » 3& * 30CH 360
OM2= DXAM 90,0008 = 28tA 180
OUEHIIE SF0MEH A2 S22 E
7Y 220,000 = 30H 660
OHEHIIE ADES 100€ = 30,0000H4 3,000
OUEHII= thsd D RoeZI| X L
130,000 = 102FA * 404 5,200
OUEHIISES e Z2H =2
400,000& = 12€ 4,800
oMY I RESE T EXT
1,000 = 30004 300
OBFBAAFNA M2PS2
15,0008 ~ 1=  12& 180
oAV AHDEAMN =g
120,000 * 1 « 23| 240
OAMIZEHIIZS Haldl 100,000 * 30= 3,000




2N BT BAAMD
M 9 JHRE OISLE2 TAEE =4
el BMEE MEBHY Z4 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFAXZE ZII22X Sl
7,000& = 3¥ » 135¢ 2,835
OgZ2Lld SSE2 Y MER
170,000& » 12& 2,040
OU+ HSXY 882 200,000& * 3CH 600
02 2324l 401,012 375,142 25,870
OFAZSE FUHE AEE
70,000& = 1CH = 128 840
OLH3EAX] 2223 15,936
CHdIlgz Jles 6,990& * 60kw » 12& 5,033
OdIIgs =& 743 * 2,000kw * 1228 1,776
O&dt=% 600,000& = 12& 7,200
O¥stx E4R3 50,000& = 13l 50
O4x(3lH)
1, 117& = 8AI2b « 200 = 105¢ 1,877
OLHEAXLD ) ZH WA ¥ A=
55,000& = 208 = 43l 440
OIS 22 32,600
OQ&HIIEAN =2 29,0003 = 3204 928
OZSEgAM =2(LEH) 65,000 = 20CH 1,300
OZEEAM =5 (12¥) 56,0002 = 12CH 672
OZELE st=SXH(HE) 850,000& * 20CH 17,000
OZEEE 2 (28) 550,0008 = 1204 6,600
OZMNERES 130,000& * 20CH = 23] 5,200
OFAINA HEEI A =8
400,000& = 204 800
OFAE A ¥ EZ=ZX USXHA
50,0002 * 204 100
(OF=E~PNE=INL:] 10,798,000 * 32CH 345,536
OLHXD AIZ&EHI®XIH 1,000,000& * 43| 4,000
OHASE )| S (F5LS)
27,5003 = 204 » 12& 660
ONZEAE &+d X E=H|
100,000& * 10CH 1,000
206 M= Hl 37,195 27,950 9,245
01 =8l 37,195 27,950 9,245
OFLBI(FAE) =2 222 (U 2 38
) 15,0008 * 739 1,095
OHAZRE FAE ¢ 300,000& = 104 3,000
OL¥HEAILD &HAET P2
5,000& = 1004 500
o8A8E7Y 11,250
Otidl 2 143 50,000& = 158 = 12& 9,000
Ol HE+=AHA& 0t 45,0008 * 50% S 2,250
OHEAX JIXH + 13,350




2N BT BAAMD
HE: 9D RsS OtsLE ZAEE =4
el BMEE MEBHY Z4 (el @2)
DA HB B (EH) - MBAY - BAS ofl &t o SSa HDE2
OAMOIEEZ Al 100,000 = 30 = 1074 3,000
OSLEB A 230,000 * 3CH * 1504 10,350
OJ=2& A &4 400,000& * 20CH 8,000
307 QI2t01 ™ 1,800 1,800 0]
05 A2t &= 1,800 1,800 0
OLHAEAXLD 2ONMIEHAIALE 2E A
150,000& = 12& 1,800
405 KHo&HFE S HI 466,360 200,000 266,360
01 JHAHE 2 Z 5 = H 466,360 200,000 266,360
OSIOIEE=(U(5YSs)) 60,000& * 2CH 120
OZH(5YSs) 300,000& = 24 600
SHYI(s2=E) 2,500,000& * 1CH 2,500
OCHHIAXANGEHI (EAS)
1,485,000& = 1CH 1,485
on¥E 2FHII(gds) 485,000 * 1CH 485
oBRA(=HAEAXD) 785,000& * 1CH 785
OW=JNI(=HEAXD) 385,000& = 1CH 385
OHAXHTL(BE A=ZI)
120,000,000& * 2CH 240,000
O-HAMEAI(8.58) 220,000,000 = 1CH 220,000
aido A2l 25 MM 15,215 35,660 N 20,445
201 et A | 11,515 31,960 N 20,445
01 At 22l ] 11,515 31,960 N 20,445
OO0I0I= A2I2sS AMEFA 9,640
OO0I0lZACIES EE ZAIRY
20,000& * 1AI2F = 10000 & 2,000
O8 =9 H& 70,0008 = 1100 = ~ 204 1,540
O H = 3,500& * 600 2,100
O=82=2 MXE 4,000
-EEEE 500€ * 5,000H 2,500
=4 2| E& 300& = 5,0000H 1,500
ost=U 2HelgdE2S 74 1,875
OZxI 22,000& = 50H 1,100
O2 X 8,000& x 50YH 400
OO H & 3,500& = 50 175
O8 =9 M 50,000& * 44 200
206 T 2 bl 3,700 3,700 0
01 & bl 3,700 3,700 0
OHAZE(OI0IZAIES, 2H2ESESF) 3,700
(OF 5= 200& = 3,000H 600
O&A 3,000 * 50004 1,500
[@]:]s]] 4,000& * 2004 800
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StEAIE i 407,586 304,797 102,789
ot& FHl ¥ |X2e 291,420 254,347 37,073
201 Let24d] 17,436 17,406 30
01 At 22l 14,600 14,650 A 50
Ootd =4 & =2 FHl FHIAXNZ 5,000
O= 47| 550,000& = 1CH = 5 2,750
ogoxt 450,000 * 1CH = 5 2,250
Odtd HFXNE g Xt
800,000& = 104 » 123 9,600
02 =224l 2,836 2,756 80
Oxg K=l 1,363& = 8L » 260 2,836
202 oddl 2,040 2,040 0
01 = LH o4 1l 2,040 0 2,040
ogEseITS 2o
170,000& = 1H » 12& 2,040
401 A& HIZ 201 8] 271,944 234,901 37,043
01 A& HI 270,000 233,245 36,755
Ootd KA 2elAS 180,000, 000& 180,000
OXgsotd S8l £ =IMAHAL
30,000,000& 30,000
Ootd AefFHa=E HAHALY 40,000,000& 40,000
OAcHd DIZ2EX 243 20,000,000& 20,000
03 A2 2 0HHI 1,944 1,656 288
Odtd&EHl & |AZcIAY AIE R
270,000,000& * 0.72% 1,944
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01 A& HI 115,335 50,000 65,335
OActd KA 2l ALY 50,000,000& 50,000
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